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Brahms: Symphony No. 2, Movement |l, 1 to 12
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Beethoven: Symphony No. 5, Movement Il, 1to 10
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Beethoven: Symphony No. 5, Movement Il, 49 to 59
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Beethoven: Symphony No. 5, Movement I, 98 to 106
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Beethoven: Symphony No. 5, Movement ||, 114 to 124
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Beethoven: Symphony No. 5, Movement lll, 1to 18
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Beethoven: Symphony No. 5, Movement I, 52 to 110
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Beethoven: Symphony No. 5, Movement lll, 52 to 110 (continued)
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Beethoven: Symphony No. 5, Movement Ill, 198 to 214
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Mozart: Symphony No. 35, Movement IV, 1to 30
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Mozart: Symphony No. 35, Movement |V, 74 to 83



Debussy: La Mer, Movement IV, 2 before 9 to 6 after 9
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